Names

Problem Patierns |

130 + 100=
130 + 99 =
130 + 98 =
130 + 97 =

The pattern is:

74+ 5=
74+ 15=
74 +25=
74+ 35 =

The pattern is:

200 + 300 =

199 + 299 =
198 + 298 =
197 + 297 =

The pattern is:

150 + 30 =
149 + 31 =
148 + 32 =
147 + 33 =

The pattern is:
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Names

Problem Patterns i

130 - 30 =
130 - 40 =
130 - 50 =
130 - 60 =

The pattern is:

300 - 200 =
300 - 199=
300 - 198 =
300 - 197 =

The pattern is:

534 -20 =
534-19 =
534-18 =
534-17 =

The pattern is:

450 -30 =
450 - 31=
450 -32 =
450 - 33 =

The pattern is:
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